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Elementary event (E) : "
Only one outcome

sum of the probabilities of all
elementary events is 1.
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P(E) _No.of outcomes favourable toE 3 _
" No.ofall possible outcomes I

Examples

Case -1) One dice is rolled:
P(1) = Probability of getting 1.
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P(y=1
6
Similarly P(2),P(3), P(4), P(5) & P(6)

1

6

P(E > 4) — Probability of getting
5&6.

= P(5) + P(6) \
2 1 :
"6 3 :
P(E < 4) :
= P(1) + P(2) + P(3) + P(4)
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PROBABlLlTY - 1"dice 36 posibilities in throwing two dices simultaneously
P dicey 1 2 3 4 5 6
1 (1.1) (1.2) (1,3) (1,4) (1.5) (1,6)
2 (2,1) (2,2) (2,3) (2,4) (2,5) (2,6)
3 (3.1) (3.2) (3.3) (3,4) (3.5) (3.6)
4 4,1) 4.2) (4,3) (4,4) (4,5) (4,6)
5 (5.1) (5.,2) (5,3) (5,4) (5,5) (5,6)
6 (6,1) (6.2) (6,3) (6,4) (6.,5) (6.6)
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F e i i Complimentary Events(E) 1 Certain event P(E) = 1 g
| Gabiing, nsurance & statistics § § NoTE=EP®=1-P(® | Inpossible eent PEV=0 Y
; ; ! Incasel: !Incase2: i
E chntral ey, E E P(sum 13) is impossible. i
' f Pz cpM=1-1=5 i hence, P (sum 13) = 0 |
M- © 3 6 6 6 ke !
i P(1) = not getting 1 ; =R
]
L]

= getting 2,34, 5and 6

!

P(sum = 8) = Probability of getting
twe numbers whose sum is 8.
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P

: Sum = 8 for
1 (2,6)(3.5)(44)(5.3)(6,2)
i

Case -2) Two dice are rolled:

B e e
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Probability of picking
up black
P(B) = 2

9

pm—
i Case -3) Box with balls : %

A box contains 2 black, 3 green
and 4 red balls.

-

NCERT / X / Probabality




